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❺امثلة و تمارين حول نظرية المنفعة القياسية
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❿امثلة و تمارين حول نظرية المنفعة القياسية
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امثلة و تمارين حول نظرية المنفعة القياسية
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امثلة و تمارين حول نظرية المنفعة القياسية
✓X Y 

➢

➢1.....................084 2'' →=−= XYV X .
8

4
2YX

=   

2........................082 2'' →=−= YXV Y .
8

2
2YX

=   



امثلة و تمارين حول نظرية المنفعة القياسية
y 

✓Xo,Yo)=(1,2)

R= 4 X +2 Y= 4(1) + 2(2) =8 

R= 8       



امثلة و تمارين حول نظرية المنفعة القياسية
❑09

Uo=64

PY=40 um, Px=10 um

XY

R



امثلة و تمارين حول نظرية المنفعة القياسية
✓X Y 

➢

➢

2.........
)1(

40
0)1(40

1.........................
10

010

"

"

→
+

==+−=

→==−=

X
XV

Y
YV

Y

X





 



امثلة و تمارين حول نظرية المنفعة القياسية
➢

y 

➢



امثلة و تمارين حول نظرية المنفعة القياسية
➢

✓

𝑯 =  −𝟐 𝝀 𝒀  𝑿 + 𝟏 =  −𝟐  𝟐.𝟓  𝟒  𝟏𝟔 =  −𝟑𝟐𝟎 < 𝟎 


